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Roll No....cccccv v,
Time allowed : 3 hours Maximum marks : 100
Total number of questions : 7 Total number of printed pages : 7

NOTE : 1. Answer FIVE Questions including Question No.l which is compulsory. All
working notes should be shown distinctly.

2. Tables showing the present value of 31 and the present value of an annuity of
<1 for 15 years are annexed.

1. Comment on the following. Attempt any four :
(i) Financial management is science as well as art.
(i) The nature of the industry plays an important role in capital structure decisions.
(iii) Bonus shares do not affect liquidity of the company and yet serve many ends.
(iv) As earnings of the firm increase, the customary dividend will not be altered.

(v) Working capital leverage and capital structure leverage are two different concepts.
(5 marks each)

2. (a) You are the CFO of Desire Ltd. Your company proposes to buy equipment costing
%1,00,000. The equipment will last for 5 years. The cost of capital to the company
is 10%. Your analyst has suggested the expected revenues, cost and corresponding
probabilities as under :

Expected Revenue Expected Cost
Amount () Probability Amount () Probability
1,00,000 0.15 62,500 0.10
1,25,000 0.40 75,000 0.25
1,37,500 0.30 87,500 0.35
1,50,000 0.15 1,00,000 0.30

You wish to run a simulation model and have picked the random numbers 81, 02, 60,
04, 46, 31, 67, 25, in that order, alternatively for revenues and costs. Decide whether
the project can be undertaken by the company.
(8 marks)
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(b) From the following data determine the cost of capital using market value as weights :

¢ Market Value (?)
Debentures @ 1,000 each 15,00,000 1,100 each
Preference shares @ 10 each 5,00,000 12 each
Equity shares @ 100 each 20,00,000 200 each
TOTAL 40,00,000

Debentures carry 8% rate of interest, issued and redeemable at par with maturity period
of 20 years and floating cost 4%.

Preference shares carry 10% dividend rate, issued and redeemable at par with maturity
period of 15 years and floating cost 5%.

Equity dividend expected at the end of year is I20 per share whereas anticipated
dividend growth rate is 5%. Corporate tax is 30%.

(8 marks)

(¢) A customer with whom the bank had entered into 2 months' forward purchase contract
for Euro 10,000 @ I74.50 per Euro, comes to bank after one month and requests for
cancellation of the contract. On this date, the prevailing rates are :

Spot 1 Euro : 374.60 / 74.70
One-month forward 1 Euro : X74.90 / 75.04
What is the loss or gain to customer on cancellation of the contract ?
(4 marks)

3. (a) Aurise Ltd. issued ¥1,000 optionally convertible debentures at a coupon rate of 12%,
convertible into 50 equity shares on a date exactly 5 years before maturity. On the
date of optional conversion the shares are quoting at I25 per share. Investors expect
return @10% p.a. on a 5-year debenture. Will you suggest the conversion ? Show your
workings.

(8 marks)
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(b) A company is considering two financial alternatives to finance its expansion plan of
%1 crore. First alternative : by issue of equity shares @ ¥12.50; Second alternative :
by issue of 14% debentures. Tax to be considered at 40%. Its present capital structure
consists of equity shares ¥20,00,000 and 8% debentures of ¥50,00,000. Expected price
earnings ratio in case of first alternative is 14 and in case of second alternative is 12.

You are required to calculate the indifference point at which market price of share under
both alternatives will be same.
(6 marks)
(c) Bling Ltd. has supplied the following data :
Operating leverage 2.5; financial leverage 3; EPS I30; market price per share I225; and
capital 20,000 shares. It is proposed to raise a loan of ¥50,00,000 @ 18% for expansion.
After expansion, sales will increase by 25% and fixed cost by 3,00,000.

You are required to work out the market price per share (MPS) after expansion, assuming
tax rate @ 50%.

(6 marks)
4. Distinguish between the following. Attempt any four :
(i) 'Capital budgeting' and 'capital rationing'.
(i) 'Finance lease' and 'sale and lease back'.
(i) 'Counter-party risk' and 'operating risk'.
(iv) 'Forex market' and 'Euro currency market'.
(v) 'Liquidity management' and 'treasury management'.
(5 marks each)
5. (a) The following data are available for a bond :
Face value 1,000
Coupon rate 16%
Years to maturity 6
Redemption value 31,000
Yield to maturity 17%

What is the current market price, duration and volatility of this bond ? Also, calculate
the expected market price, if increase in required yield is by 75 basis points.

(8 marks)
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(b) The spot rate INR/AUD is ¥45.31 and the three-month forward rate is ¥45.45. Which
currency is appreciating and depreciating ? Which is trading at a discount and at a
premium ? Which currency is more expensive ? Also, compute the annual percentage
premium or discount.

(6 marks)

(c) The following information is collected from the annual report of Joy Ltd. :

Profit before tax %2.50 crore
Tax rate 40%
Retention ratio 40%
Number of outstanding shares 50,00,000
Equity capitalisation rate 12%
Rate of return on investment 15%

What should be the market price per share according to Gordon's model of dividend
policy ?
(6 marks)

6. (a) Calculate the payback period, accounting rate of return, net present value and internal
rate of return for the following investment :

Year Cash flow (3
0 (30,000)
1 4,000
2 10,000
3 20,000
4 11,000

The rate for discounted cash flow (DCF) calculation is 12%. Accounting profits are the
same as cash flow except that the initial expenditure should be depreciated over 4 years;

there is no resale value at year 4.
(10 marks)
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(b) Esha Ltd. is a company having annual credit sales of ¥30 lakh. It deals in only one
product. Currently it has an average collection period of 30 days. It is anticipated that
liberalisation of credit terms can lead to increase in sales as indicated below :

Policy Increase in collection period (days) Increase in sales (< '000)

A 15 200
B 30 300
C 45 350
D 60 375

The unit selling price for the product is I50 and its unit variable cost is I30. At current
volume it has a unit total cost of I35. It also noted that the liberalisation of credit will
lead to the following incidence of bad debt losses :

Policy Increase in collection period (days) Bad debts (% on sales)
A 15 0.5
B 30 1.0
C 45 1.5
D 60 2.0

Currently the company is free from bad debt losses. What will be the most rewarding
credit policy under these circumstances ? The company expects a return of 18% on
investment. Tabulate your presentation. Assume 360 days in a year.

(10 marks)

7.  Write notes on the following. Attempt any four :
(1) Benefits of depository system
(ii) Participants in derivatives market
(iil) Optimal capital structure
(iv) Participants involved in the securitisation process
(v) Cost of retained earnings.
(5 marks each)

(e
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